[ Efficiency vs vertpos |

= 0.5p

TOTc R R A
2 E : : :
R A prrrmre P
(&) . . .
G035 Fassneseeees e H
i) : :

E | A Proereee P % -----

0.2BF-+eeereierereennns e RLIRR
0.2F e froseeeenees oo ++

0.15F - Foeeeeeeenn :
0.0 woveevee oo oo i+ ---------
&5

0.05—+
AT IR
i) 3 T
' (L
0.95' T I
1 4|

0.80 ; :
1072 10 1 10 0?
TP vertr (cr%)

— B _UIL%i_IIdI SLE] ((Oar-prrast L=-TTewgeoTIT
—e— D mKFit_sTe r-phasel-newgeom
—_— B r-
—

D

fthal
— :?nqle—ste 2 ttbal asel-newgeom
Efficiend ast_ste|
—

_plxeTCPETEtntw%?er{t% gtsgg'én ﬁ‘ggr-?)Wasel-newgeom
~ 0.2

R A IR S RN S
%) o : : : : :

>0.16F
>

g C
$0.14F
(&) L
£0.12F
[J]

0.1F
0.08F
0.06F
0.04F
0.02
.0

Ratio

1.

1

-30 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>
0.0.45
S
o 04
£0.35
0.3
©
£0.25
[}
0.2
0.15
0.1

iency

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


